Run 5707 quartetwise, PosHalAccO/NSamplasd Run 5707 quartetwize, NegHalAcc)/NSamplas0

— — === Laser O -— [ === Laser O -—-
— Entries: 30143 2500 — Entries: 30143
[ Mean: 13.2743 «/- (L0044 — Mean: 14.0463 «/- 00046
2008 = Std Dey: 0.7558 « 00031 — Std Dev: 0.79TE o~ 0.0032
- === Lasar OFF -=- 2000 [ === Laser OFF -=-
[ Enlries: 8271 — Enlries: 8271
1500 — Mean: 13527 +/- 0.0024 [ Mean: 13509 +/- 0.0023
— Sid Dev: 02144 4 0.0017 1500 — Sid Dev: 02133 &~ 0.0017
1000 — 0 —
500 — 500 —
|'-'| _m 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 1 I 1 1 1 |'-'| _"/\'\'hl 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 ] 1 1 1 I 1 1 I 1
2 d [ ] 14 2 4 [ ] 10 12 14 18

Run 5707 quartetwise, Diffs) Run 5707 quartetwize, Sums0
1400
= === Laser ON -—- A0 — === Laser O ---
— Enitries: 3014343 — Entries: 30143
1800 — Mean: -0.7719 &= 10026 —— Mean: 27.3206 +/- 0.00&6
— Std Dev: 04504 +- 0.0018 — Std Dev: 1.4872 +- 0.0061
1000 f— === Laser OFF --- [ == Laser OFF ---
[ Enlries: 8271 apon — Enlries: 8271
800 — Mean: 0008 +- 0.0025 [ Mean: 27036 +- 0.0040
— Sbd Dey: 0.2306 - 0.0018 — Sbd Dwev: 03603 +- 0.0028
— 1500 —
&0 — —
[ 1000 —
00— —
200 f— 600 —
l:l _I L I L 1 L 1 L L I L L L L I l:l _A L I L 1 L L I 1 L 1 L I L 1 L I_I L I L L L L I L
x| 1 1.5 5 1@ 15 20 25 3
Run 5707 quartetwize, Asyms(
1ann - === Laser OM -—-
— Eniries; 30143
10— Mean: -31.3583 +/- 0.1054
— Sbd Dwew: 18,2966 +- 00745
1000 b— === Laser OFF -—-
— Enlries: 8271
a0 — Mean: 00743 +/- 0.7029
— Sbd Deyv: 93614 - 0.0728
&00 [—
o=
apg —
l:l _I 1 I 1 | I I = l _L | — 1 I
1240 100 4 LiH




2800

2000

1500

1000

500

1300

1000

&

&0

400

200

1300

1000

&

&0

400

200

Run 5707 quartetwise, PosHelAccd

:‘L__b_lI|IIII|IIII|IIII|IIII|II

— Lasar O —

frlne: 30143

Magn: 2240081258 +- 1312 BSEE
224 Dz 25260 0708 «- 200 SRED

— Lassar OFF —
Enbni: 32T1

Masn: VIEMHED 2272 « 208813

S Dwre: JITOSE 3380 +/- T4 1335

P L =1

Run 5707 quartetwise, Diffgd

— Lasar O —
tnlnea: 3543
Maan: MIT413 5580 == 72171461
S (D TIEI0ERNTER «i- S0 2530

— L OFF —
Cnbnia: 42T1
Maan: A7L 1585 + SIS IGED
0 Dre: JATTILZ0TT & EHE 2D

| [P N o1y
ETE) 4000 2000 i 2000 4000
Run 5707 quartetwise, Asymsd
=== Laser ON -—

Entries: 30143
Mean: -31. 7856 +/- 0.0947
Sbd Deew: 16.44&2 4/~ 0LDETD

=== Laser OFF ---
Entries: 8271
Mean: -0.0114 «/- 00472
Sid Dhey: 43026 - 00335

2800

2001

1500

1000

500

000

2800

2001

15010

100

500

Run 5707 quartetwise, NegHalAcc4

j_-l_-glllIII|IIII|IIII|IIII|III

— Ly 0% —

rinea: 30043

Magn: SIES187 T8 - 137 FA 8
25 Dwre: T8N BETT - TFEI SN

— Lussar OFF —
Enlnia: 4271

Masn: PIETIE] 0T« 2862 0231

S Drire: 234127 B2 /- T 25 BO24

[ 1 R A LN

Run 5707 quartetwizse, Sumsd

==y

— Ly 0% —
trlnea: 3043
Main: TENITEIREOET - I5E30 FIET
d Dwre: 464150 06T «0- 12300 14 S5E

— Lumar OFF —
Cnlnea: 42T1
Main: 272183 8327 +- TR 41T
S0 [Dnire: THAE]. 2E0T +.- S SO0E

Lo Ly oy 1=l




G000

SO0

3000

2000

1000

1800

1400

1300

1000

&0

&0

4

200

3800

000

2800

2000

1800

1000

500

Run 5707 quartetwise, Asyms USbg?

alllh

el

A

=== Laser O -—

Entrie=: 30143
Mean: -0.0030 «/- 00OSD
St Dhey- 0.5235 & 00021

=== Lager OFF ---
Entries: 8271
Mean: -0.0024 < QLOOSE
S Dhey: 05261 - 00041

e

ol

[

e

Run 5707 quartetwize, Asyms DSbg1

-|-II|III|III|III|III|III|III|III|III

=== Laser O -—

Entries: 30143
Mean: -0.0004 &/ 0UO0DE
Sid Dhey: 0U1460 = D000

=== Laser OFF ---
Entries: 8271
Mean: -0.0012 «- 00016
Sbd Dev: 0.145% - 00071

=
[

Run 5707 quartetwise, Asyms Horiz Finger

. ﬁuﬂnhﬂé}]

0.5

=== Laser ON -—

Entries: 30143
Mean: -0.0080 «- 0002E
Sid Dey: 03909 +~ 00076

=== Laser OFF ---
Entries: 8271
Mean: -0.01%2 «/- DLODE2
Sid Drey: 0U5E07 - D004

25010

00

2800

20010

15010

100k

500

100

1401

1300

1000

A0

&0

400

200

000

2800

2001

15010

100

500

Run 5707 quartetwize, Asyms UShg2

0

Run 5707 quartetwize, Asyms DShg2

=== Laser O -—-

Entrie=: 30143
Mean: -0.00F9 «/- U021
Sid Dhew: 03628 - 00015

=== Lager OFF ---
Entries: 8271
Mean: -0.0021 «/- 00040
Sid Deyv: 0365 - 00020

'

=== Laser O -—-
Entries: 30143
Mean: 00002 «- 0.0008
Sid Dev: 01336 - 00005

== Laser OFF ---
Entries: 8271
Mean: 00023 +- 0.0015
Sid Dev: 0.1342 &~ 00070

Run 5707 quartetwize, Asyms Vert Finger

1.5 a 0.5

=== Laser O -—-

Entries: 30143
Mean: -0.03086 «- 00016
Sid Dev: 02825 - 00012

== Laser OFF ---
Entries: 8271
Mean: 00033 +- 0.00456
Sid Dev: 047193 - 00033




posHD

dilid

asymilsu

14

12

0

Run 5707 quartetwize, posHE vs time

L % .

TS

TNEEE RN
I'I I 1 Iil I

jaac]

20

ETH (W) [T 100
Entry%

Run 5707 quartetwize, diffl ve time

jaac]

1

4

A

20

0

0

20

Ay

4l

Run 5707 quaretwise, asymisub vs fime

x10°

e

sarmi

Bem

Run 5707 quartetwize, negHO vs time

18

14

12

e

[ -]
|III|III|III|III|III|III|III|III|I

L 1%

i3

——
-t ——

r
- —————— A -
e T ——
=

yiibge e

1 ‘I I 1 1 il

3

=

20

4 Gl

Run 5707 gquartetwize, summi vs time

an

25

20

15

e

'R .

TERER AR REN

' ] 1 1 1, ] 1 1 1

'

=

20

4 &l

Run 5707 quartetwise, posH4 vs time

EntryS

140

130

10a

b TH

ik

4

20

[rpoms e el

=

wid



pbskd

dili4

asymdsul

Run 5707 quartetwize, posH4 vs time Run 5707 quartetwize, negH4 vs time

[
|-
U'lr\-
[
-
I?lr\-

— 2 —
— T - o H — = 45_— VT el ot
4 — E —
= F ‘ : i E b T = R Tk |
— £ V| [EE {EN L f a5 ] M| - |
an — ! '1 i il — :r;::_ !
= 1 1 ! | . an — ! .o
25 - = |
— | =
20— i a0
15— 15—
10 E}— in =
5 5 E—
|'_'| : 1 II 'I' 'II ' 1 q Illl I .I' 1 'II 'I' . 1 1 1 1 I 1 1 1 I II. 1 :':1':". ﬂ: 1 II II. II. I 1 ‘ IIII I .I. 1 ll‘ 'I' . 1 1 1 1
a 20 a0 &0 TV 100 a 20 40 i
Entry%
_ Run 5707 quartetwize, diffd ve time Run 5707 guartetwize, summd vs time
w10 " gl}«.nr:-‘
— E = .
[ 5 = o
2000 [— l=n 1%' . F!E ! : | !
— i E— : ) Pt I
N = i) 5|li::-'--1' gl
| — : v
| &l — ! : . '!1 1 ! |
— 50— i
2000 — — i
[ 4l — ‘
4000 |— =
[ 20—
GOO0 — : —
' L =
[ L L L L I L :':1':". I:I: L II'I..I.II !I-.Ilil. L lIl .F.! 1 L 1
a 100 a 20 40 i
Entry§
Run 5707 quartetwise, posH4 vs time
[ E —
40 — a — [ i v ] | e sty S5 o= !Fll-u
— fal
El:'_— - —
- :.:':".. 13]_—
i} __ o :
[ jioo —
ap — —
= ol
a0 — [
= ]
&0 [— ] —
- i1 b
an — —
— . - EI}_—
1[:‘:' — L L L I 1 L 1 I L L L I L L L I L L L I L :':1':". |:| [ L 1 L I L L L I L L 1 I 1 L 1
a 20 40 G0 TR L0 a 20 40 i



Run 5707 quartetwize, USbg2 ve time

Run 5707 quartetwize, USbg1 ve time
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